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207 AL Y| 20,000 0 20,000
01 A= SH| 20,000 0 20,000
gE2 JIESHEE s=d 20,000
401 AEHIZ2OHb] 5,055,000 4,300,000 755,000
= 1,000,000
= 300,000
Al 3,755,000
01 Al&HI 4,941,200 4,137,000 804,200
Ot DMXIAAISS 2 HE S 4,941,200
& 1,000,000
= 300,000
Al 3,641,200
02 2eltl 100,000 150,000 A50,000
OEHe DMIHRAAIE S 100,000
03 AlE=20Hdl 13,800 13,000 800
OEHe DMXAA S 2 FAIE2OH
]l 13,800

DM HAAIEr S 2 2 111,860 63,564 48,296
201 LBt 103,160 3,500 99,660
01 AtR2t2ldl 19,800 3,500 16,300

o2d=¢ 2,700
oXtHAIE 22 HEX=Z
70 3 2,100
ottt MAICHH N2
100,000& * 3AI2t = 23] 600
O =2 222 M 15,000
STSE=5 100& * 50,0005 5,000
o=E8 ML} 2,000& * 5,000% 10,000
Qg2 ARES 72 100,000& * 123 1,200
og=sa AARJ1J] AR5 2 900
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> A0
fon
£

2z
Hu: pMe NE
Celt 2B XM Y WY (el:@g
_ _ SIEN
S HH - (BH) - MBAY - B2 O & 04 il b o HRs2
OZEXE ZA 2,190
ENS A S BAGAHEE ZHAL 1,357,000 714,000 643,000
| 950,000
= 122,100
Al 284,900
401 AEHIL 20 1,357,000 714,000 643,000
| 950,000
= 122,100
Al 284,900
01 Al&H| 1,202,115 709,502 492,613
OB AT BAGAHEE ZHAY 1,202,115
| 950,000
= 122,100
Al 130,015
02 2t2lH| 150,000 0 150,000
OB AT BAAHEE ZHAY 22IH| 150,000
03 Al& S CHY] 4,885 4,498 387
OB AT BAGAHSE LAY AL LY 4,885
224 BN FH 800,000 600,000 200,000
3 400,000
= 80,000
Al 320,000
401 NEHIYL S0 800,000 600,000 200,000
3 400,000
= 80,000
Al 320,000
01 Al&H| 794,960 596,220 198,740
OP2A BEX E4 794,960
3 400,000
= 80,000
Al 314,960
03 Al& S CHY] 5,040 3,780 1,260
OP2A BEX T4 ALY 5,040
224 BRI FHFH| 100,000 0 100,000
= 100,000
401 AEHIL S0 100,000 0 100,000
= 100,000
01 Al&| 100,000 0 100,000
OR2A BEX =8 AL 100,000
= 100,000
BBI|BAIL B2 9,182 32,110 ~22,928
224 BEX 29 9,182 17,110 AT,928
101 Q1248 4,262 8,190 A3,928
04 JAH2RRELSS 4,262 8,190 A3,928




A 22250
HH: pYAY NS
el 2ZDIBHAIE 2tel FEE
I:l}\_l X XH C|-O|(§|];”) }\.“:l}\l,o-l HASZ A} OH II_-ILj_l‘:_ =2}
- o= I T ° - 5 ° o= (S 0:”/.)"% C
o2&k FFH 22k 2 4,262
olles 32,880& * 521 » 7 « 33 3,453
oFgaY 32,8802 * 501 x 12 * 33| 494
o ZhATH| 3,0008 = 5@ » 7& 33 315
201 et 1,920 0 1,920
02 33234l 1,920 0 1,920
oadojetdae e+ 160,000 123 1,920
206 M= dl 3,000 7,000 24,000
01 M=Hl 3,000 7,000 24,000
Oonzs d2x8 N = 2,000
OZ3&cl Hlz 88501 &5 7Y 1,000
HH2FZH (22 235) 60,956 58,982 1,974
I 2 20,264 18,290 1,974
elg 2EH| 20,264 18,290 1,974
101 el 24| 16,064 14,090 1,974
03 RIIHAZIZXNE > 16,064 14,090 1,974
OSESHSUANEBIHY 22| 22X 2+ 15,964
oJlgs 32,8803 * 12! » 250 8,220
o= 8,220,000 * 4/12 2,740
ociXtRaE5Jt=E 32,880& * 121 » 20& 658
o A2t =g
5,000& = 121 » 20A12+ « 128 1,200
oFFsdg 32,8803 * 191 » 52 1,710
AR =) 8,220,000& = 10/100 822
o X S IH&HI 15,350,000& * 4/100 614
OUZAESEEE 100
203 ¥F =&l 4,200 4,200 0
04 EAN2SHRFAH 4,200 4,200 0
ORN2IH2F2| 350,000& = 12& 4,200
23| 40,692 40,692 0
Jl=&Hl 40,692 40,692 0
201 2Bt 36,852 36,852 0
01 AtR2teld] 36,852 36,852 0
OfAM2g JI=&hl 6,000
o2& 300,000& = 12& 3,600
ocEHS= 200,000& = 12& 2,400
OMRESE 78 3,600
oz 200,000& = 12& 2,400
oEBHsS= 100,000& = 123 1,200
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SH: 2R
M #YLAAL(BYSSD)
&2l Jl=3Hl (9 E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OHFHFARII] A28 P2 9,900
ozt = 300,000& = 5CH = 33 4,500
ozt 300,000& = 2CH = 33| 1,800
o ZZ=R 300,000& = 1CH = 33l 900
o =23t 300,000& = 1CH = 33 900
cEHs= 300,000& * 2CH = 33| 1,800
OF=3=i:] 16,212
ozt&)|E 7,000& + 1921 « 7 + 123 11,172
oEHES= 7,000& * 621 » 10 » 12& 5,040
O&=J| gz 49,0002 = 10H = 123 588
ORdes iz 552
o2& = 18,0008 = 123 216
cEHs=2 14,0002 * 2CH = 123 336
202 (48| 3,840 3,840 0
01 2LH0iHI 3,840 3,840 0
OHI&4Z A 2UAdl 3,840
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